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Homework # 4 solution 

 

Q1. Problem 6.6: 

 

 

i = C (dV/dt) 

 

 

 

Q2. Problem 6.11: 

 

i = C (dV/dt)       

 

⇒  V= (1 / C) ∫ i(t) dt 

 

 

Q3. Problem 6.18: 

           

 

         

 

 

 

All capacitors are C = 4 µF. 

  

           

 

Q4. Problem 6.42: 

 

V = L (di/dt) 

 

⇒ I = (1 / L) ∫ V dt 

 



Q5. Problem 6.49: 

           

 

 

 

  

 

 

∴Leq = 3L / 8 =3.75 mH 

 

 

Q6. Problem 6.69: 

 

 

 

            Vo(t) – Vo(0) 

            = (-1/RC) ∫ Vi(t)dt 

 

 

 

 

 

 

 

Q7. Problem 6.74: 

 

Apply KCL at inverting terminal: 

I = C d(Vi -V-) / dt = -Vo / 20KΩ  

⇒Vo = - (0.01µF)(20KΩ) dVi / dt 

  = - (2×10
-4

) dVi / dt 

 

 


